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Graphs without Increasing Paths

10572 [1997, 168]. Proposed by Richard P. Stanley, Massachusetts Institute of Technology,
Cambridge, MA. Let f(n) be the number of graphs (without loops or multiple edges) on
the vertices 1, 2, ..., n such that no path of length two has vertices i, j, k (in that order)
with i < j < k. Let g(n) be the total number of subspaces of an n-dimensional vector
space over a 2-element field. show that

Zf(n)z—'; = e"‘Zg(n)’;—';.

n>0 n>0

Solution by Stephen C. Locke, Florida Atlantic University, Boca Raton, FL. Let V be an n-
dimensional binary vector space, and let .S be a subspace of V. We may take S to be the row
space of an m x n binary matrix M. Furthermore, we may assume that M is row-reduced,
so that the leading 1 in each row is the only 1 in its column. We call these entries pivots.

Construct a graph G whose vertices are the nonzero columns of M (G is empty when S
has dimension 0). For each pivot element m; ;, the vertex representing column j is adjacent
to the vertex representing column r if m; , # 0. Thus all edges consist of a pivot column
and a higher-indexed non-pivot column. In particular, G has no path i, j, k withi < j < k.
Furthermore, the row-reduced matrix M and thus S can be retrieved from G.

If we relabel the vertices of G with 1,2, .. ., k preserving the order of the original labels,
then the new graph is of the type counted by f (k). Thus there are ZZ:O (Z) f (k) such
graphs, and the bijection with subspaces yields g(n) = Y ;_, (Z) f&).

When multiplying power series, the coefficient of x" /n! in the productof ), . anx" /n!

and Y- bux"/nlis Y o ()akbn—k. Thus Y, oo g()x"/n! =e* ", o f(n)x"/nl.

Solved also by D. Beckwith, D. Callan, R. J. Chapman (U. K.), J. E. Dawson (Australia), R. Ehrenborg, R. Holzsager, D. E. Knuth,
L. Pebody (U. K.), and the proposer.

A Card-Matching Game

10576 [1997, 169]. Proposed by Donald E. Knuth, Stanford University, Stanford, CA. Alice
and Bill have identical decks of 52 cards. Alice shuffles her deck and deals the cards face
up into 26 piles of two cards each. Bill does the same with his deck. If any one of Alice’s
top cards exactly matches any of Bill’s, the matching cards are removed. Play continues
until none of the cards on top of Alice’s piles matches any of the cards on top of Bill’s piles.
What is the probability that all 52 pairs of cards will be matched?

Solution by Philip D. Straffin, Beloit College, Beloit, WI. Given a particular deal of 2n cards
for Alice, let T,, be the number of possible deals for Bill, let W,, be the number of these that
succeed (all cards are matched), and let L, be the number that lose. We compute W,/ T},.

Given a deal for Alice, a game is specified by Bill’s piles: a partition of {1, 2, ..., 2n}
into pairs and a choice for the top card in each pair. After specifying which of Bill’s cards
is paired with 1 and which is the top card in this pair, there are T,,_; ways to complete the
deal. Hence T,, = 2(2n — 1)T},1.

Now consider L,. As long as either player has any single-card piles, the game is not lost,
since more than half of that player’s cards are exposed and there must be a match. Hence
when a game is lost, each player retains k > 1 piles of two cards, and Bill’s top cards must
be exactly Alice’s bottom cards. The piles that were removed were a successful game of
size n — k. Since the hidden cards in Bill’s blocked piles are chosen from Alice’s top cards
and can be arranged in k! ways, we have L, = Y ;_, (Z)k! Wo—k.

Since T, = W, + Ly, we have T, = Y ;o (})k! Wy—t. Thus

n—1 n—1 n
nTy=nY (" Wi =Y (5 )&+ D! Warie =Y (k! Wi = L.
k=0 k=0 k=1
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